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0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 0,1s A
3 Wiederh.

A1    A2    A3      ∆
0.021 1.085 1.74 0.008
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 0,1s A
3 Wiederh.

A1    A2    A3      ∆
0.026 1.052 1.423 0.004
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 0,1s A
3 Wiederh.

A1    A2    A3      ∆
0.065 0.889 1.233 0.008
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 0,1s A
3 Wiederh.

A1    A2    A3      ∆
0.044 0.955 1.402 0.008
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log ∆L  Leuchtdichte-Diffenz-
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 0,1s Y
3 Wiederh.

A1    A2    A3      ∆
0.025 1.06 1.748 0.008
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log ∆L  Leuchtdichte-Diffenz-
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 0,1s Y
3 Wiederh.

A1    A2    A3      ∆
0.037 0.947 1.584 0.003
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log ∆L  Leuchtdichte-Diffenz-
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
PO 0,1s B
3 Wiederh.

A1    A2    A3      ∆
0.017 1.122 1.488 0.002

TG600−8N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 0,1s B
3 Wiederh.

A1    A2    A3      ∆
0.287 0.693 1.198 0.004

TG601−1N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
BM 0,1s R
3 Wiederh.

A1    A2    A3      ∆
0.039 0.999 0.992 0.005
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log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 0,1s R
3 Wiederh.

A1    A2    A3      ∆
0.023 1.118 0.845 0.002

TG601−3N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 0,1s G
3 Wiederh.

A1    A2    A3      ∆
0.248 0.737 1.449 0.003
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 0,1s A,Y
3 Wiederh.

A1    A2    A3      ∆
0.044 0.955 1.402 0.008
0.037 0.947 1.584 0.003

TG601−5N_1

log ∆L  Leuchtdichte-Diffenz-
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 0,1s A,B
3 Wiederh.

A1    A2    A3      ∆
0.044 0.955 1.402 0.008
0.287 0.693 1.198 0.004

TG601−6N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 0,1s A,R
3 Wiederh.

A1    A2    A3      ∆
0.044 0.955 1.402 0.008
0.023 1.118 0.845 0.002

TG601−7N_1

log ∆L  Leuchtdichte-Diffenz-
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
AD 0,1s A,G
3 Wiederh.

A1    A2    A3      ∆
0.044 0.955 1.402 0.008
0.248 0.737 1.449 0.003

TG601−8N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

Daten & P−A3−Fit
KR 0,1s A,Y
3 Wiederh.

A1    A2    A3      ∆
0.021 1.085 1.74 0.008
0.025 1.06 1.748 0.008


